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QUESTION 1

Which two are represented in a UML class diagram? (Choose two.) 

A. relationships between classes and interfaces 

B. operations of classes and interfaces 

C. the interactions between objects in sequential order 

D. ways to test an application 

Correct Answer: AB 

 

QUESTION 2

Which statement is true? 

A. JMS enables an application to provide flexible, asynchronous data exchange. 

B. JMS provides interfaces to naming and directory services. 

C. The JMS API is located in the java.jms package. 

D. JMS enables an application to provide tightly coupled, distributed communication. 

Correct Answer: A 

 

QUESTION 3

Which three are provided by the EJB tier in a multitier J2EE application? (Choose three.) 

A. dynamic content generation 

B. XML parsing 

C. transaction management 

D. security 

E. concurrency control 

Correct Answer: CDE 

 

QUESTION 4

Given: 

3.
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 int calc() { 

4.

 long x = 40L; 

5.

 int i = 30; 

6.

 i = x; 

7.

 System.out.println("result is: " + i); 

8.

 } 

What is the result of calling calc()? 

A. Compilation fails because of an error at line 6. 

B. Compilation fails because of an error at line 4. 

C. result is: 40 

D. result is: 30 

Correct Answer: A 

 

QUESTION 5

Which two are true? (Choose two.) 

A. SQL technology is used to access JMS queues from within EJB technology. 

B. SQL commands can be written in applications that use NO Java technologies. 

C. SQL allows you to modify multiple rows in a table with a single command. 

D. SQL is a web services technology used to parse large XML files. 

E. SQL commands cannot be contained in servlets. 

Correct Answer: BC 
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